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1. Write short notes on the following: 5×4 = 20

(a) Bull

Time allowed : 3 Hours Maximum Marks : 80

Note : Attempt questions in all. Question No. is

compulsory. Attempt any four questions from

remaining questions.

five 1

eight

Compulsory Question

dqy iz'uksa ds mÙkj nhft, A iz'u la[;k vfuok;Z

gSA 'ks"k iz'uksa esa fdUgha iz'uksa ds mÙkj

nhft,A

fuEu ij laf{kIr uksV fy[ksa %

rstfM+;k¡

ik¡p û

vkB pkj

(vfuok;Z iz'u)
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(b) Derivative

(c) Euro Bond

(d) Bombay Stock Exchange

2. Explain the role of National Stock Exchange in

the Indian Capital Market. Discuss its

organisation also. 10+5 = 15

3. Explain the various methods of selling securities

in Primary Market. 15

O;qRiUu

;wjks ck¡M

ckEcs LVkd ,DlpsUt

izkFkfed cktkjA

oSf'od LVkWd cktkj dh Hkkjrh; iw¡th cktkj esa D;k

Hkwfedk gS\ blds laxBu dh Hkh O;k[;k djksA

izkFkfed cktkj esa izfrHkwfr;k¡ cspus dh fofHkUu fof/;ksa dk

o.kZu djsaA

(e) Primary Market.
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4. Write notes on : 7½×2 = 15

(i) Screen Based Trading

(ii) Internet Based Trading.

5. Explain the benefits of listing of securities?

List the documents required for listing of

securities. 8+7 = 15

fuEu ij uksV fy[ksa %

LØhu vk/kfjr O;kikj

bUVjuSV vk/kfjr O;kikjA

izfrHkwfr;ksa dks lwphc¼ djkus ds ykHkksa dk o.kZu djsa\

izfrHkwfr;ksa dks lwphc¼ djkus ds fy, dkSu&dkSu ls izi=k

pkfg, gksrs gaS\

ds dk;ks± dk o.kZu djsaA ds }kjk iznku dh

tkus okuh fo'ks"k lsokvksa dk o.kZu djsaA

6. Explain the functions of NSDL. Discuss special

services being provided by NSDL. 10+5 = 15

NSDL NSDL

26374/K/294 3 P.T.O.



7. Who are the major players in Derivative Market?

What kind of risk they are exposed to? 10+5 = 15

8. Discuss some of the important modes of raising

funds from International Markets. 15

O;qRiUu cktkj esa dkSu&dkSu ls cM+s f[kykM+h gksrs gSa\ rFkk

mudks fdl izdkj ds tksf[ke dk lkeuk djuk iM+rk gS\

vUrZjk"Vªh; cktkjksa ls iw¡th tqVkus ds eq[; lk/uksa dk o.kZu

djsaA

fuEu ij uksV fy[ksa %

vnyk cnyhA

9. Write notes on the following: 3×5 = 15

(i) ADRs

(ii) GDRs

(iii) SWAP.

(i) ADRs

(ii) GDRs

(iii)
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